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Three statement are given followed by three conclusions numbered I, II and III. Assuming the
statements to be true, even if they seem to be at variance with commonly known facts, decide
which of the conclusions logically follows (s) from the statements ?
Statements :
1) All sparrows are pigeons
2) Some sparrows are Crows
3) All crows are kites
Conclusions :
I) All pigeons are kites
IT) Some kites are pigeons.
IIT) All sparrows are kites
Answer Options :
1) Only conclusion I follows 2) Only conclusion II follows
3) Both Conclusion III follow 4) Either conclusion I or II follow

greft feetett faum ST fFsepy dressiigdes arar. fAumme fietelt Afedt A Mg 3/ TEIT U=, SR
o I e qegieh P sieare iR et ORI, fummYd feeiean fsesfih! sror fsad
TfchepgeaT () STIERYT AT o 3Rl

CRIEE
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Read the given statements and conclusions carefully. Assuming that the information given in the
statements 1s true, even if it appears to be at variance with commonly known facts, decide which
of the given conclusions logically follows (s) from the statements.

Statements :

I'use social media only if I am bored. I am not bored when I have my friend's company.
Conclusions :

I) If I am bored, I seek mu friend's company.

IT) I don't use social media when my friend is present.

Answer Options :

1) Only conclusion I follows 2) Only conclusion II follows

3) Both Conclusion I and II follow 4) Neither conclusion I nor II follow
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Three statements are given followed by three conclusions numbered I, IT and III. Assuming the
statements to be true, even if they seem to be at variance with commonly known facts, decide
which ofthe conclusions logically follows (s) from the statements ?
Statements :
1) Some cups are saucers.
2) No saucer is a pan.
3) All pans are mugs
Conclusions :
I) Some pans are cups
IT) No cup is a pan.
IIT) Some mugs are saucers.
Answer Options :
1) Only conclusion I follows
2) Only conclusion III follows
3) Either conclusion II follows or conclusion I and III together follows
4) Either conclusion I and II follows, but III is uncertain
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Three statement are given followed by three conclusions numbered IIT and III. Assuming the
statements to be true, even if they seem to be at variance with commonly known facts, decide
which of the conclusions logically follow (s) from the statements ?
Statements :

1) Some climbers are plants

2) All Plants are trees,

3) Some climbers are strong.
Conclusions :

I) Some plants are strong

IT) Some trees are strong

IIT) No plant is strong
Answer Options :
1) Only conclusion I follows 2) Only conclusion II follows
3) Either conclusion II follows 4) Both conclusion I and II follows
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Two statements and two conclusions are given below. Find out suitable alternative.
Statements:
A) All teachers are artists.
B) Few artists live happily.
Conclusions :
C) All teachers live happily.
D) All those who live happily are artists.
Answer Options :
1) Only C true 2) Only D true
3) Both C and D are false 4) Both C and D are true

IR&TT o9 R Gd—3MMeh TR 3Rielel BiH e (Al) T5e elldgl e, |4 dlp, o DA
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R) SD T HEHT BIUVIRIST HIHTIR chetel hIEISIU JREM doel fohdl Gd—3Mefes TR ATgia.

3) IR Y- TeMRMET SD T FgHH RIS UicaTfed dhelel 3R

8) el g@-3fie ToMRET SD 9 ARt JIvaTATd! Hicslfed dhetel Tal.

There are security experts, as well as ex-fraudsters, who are experts in artificial intelligence
(Al). All people who are experts in Al are invited to join the team of security designers (SD) by
one organization.

Select one of the following that can be logically inferred based on the statements above.

1) All who are encouraged to join the SD team are security experts or ex-fraudsters.

2) Some who are encouraged to join the SD team are not security experts or ex-fraudsters.

3) Some ex-fraudsters are encouraged to join the SD team.

4) Some ex-fraudsters are not encouraged to join SD team.
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Rala (Italian Millet), Sava (Little Millet), Harik (Vargu), Varai (Barnyard Millet} are rich in amino
acids, fatty acids and other vitamins. T" hey contain minerals that are iron, calcium, magnesium,
phosphorus and potassium. These food components assist in the functioning of hormones in the
body. The amount of glucose and insulin produced in the body is controlled by them. Since their
digestion is slow, they stay in the stomach for a long time, so you get the satisfaction of being full
by eating less. They are high in lecithin which strengthens the nervous system. Its phytochemicals
reduce the risk of cancer. Blood cholesterol is reduced. Whole grains provide 12.5% more protein
than wheat. Sava is used in liver disorders. Since millets are gluten-free, they can be consumed by
people with gluten intolerance. In short, whole grains are useful for body health due to various
characteristics.

Choose the one most reasonable fact that would weaken the above argument if true.

1) South Indians whose food mainly consists of rice, nachani, kuttu chana, tur, udad do not suffer
from digestive problems.

2) If wheat is completely excluded from food, the person does not get B-vitamins, zinc, bran,
which are important elements along with gluten, and as a result, the beneficial bacteria in the
intestines are depleted and the immunity of the intestine increases unbridled and rarely invites
cancer,

3) People with congenital celiac sprue cannot digest gluten in their small intestine, so they have
to eat foods where gluten is not detectable.

4) Eating wheat is not inevitable as pulses, oil, milk, meat, fish, eggs, vegetables, fruits etc. are
consumed along with jowar, bajri, rajgira, nachani, kuttu grains.
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A group of traders in a certain country has decided to take their whole taluka ‘offshore’ in protest
at the insignificant amounts of income tax paid by big businesses. An association of shopkeepers
from the town want to use the same controversial loopholes favoured by huge multinationals so
that they too can legally avoid this tax. One giant multinational, for example, has been branded
immoral for transferring profits out of the country and into the other countries, where they receive
favourable tax deals. But the shopkeepers of the town cannot have it both ways. If they believe it
1s immoral for these multinationals to avoid country tax, it is immoral for then, too. They should
continue to pay country tax in full.
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Select one of the following, that if true, most weakens the above argument.

1) Small businesses acting alone cannot obtain the same tax breaks as the giant corporations

2) The only purpose of the protest is to pressure the government into tackling tax avoidance by
big business

3) Every time the government comes up with a way of tackling tax avoidance, lawyers simply find
anew loophole

4) One of the town traders found that last year he paid seven times more corporation tax than one
multinational company
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You are a freelancing journalist. Recently you read a novel based on documented sufferings and
exodus of people of minority tribe from certain region that happened more than two decades ago.
You are from this minority tribe. You are very well acquainted with the realities of the exodus and
the hardship faced by people of both the tribes. In your opinion the author has used her writing
skills to emphasize how cruel were the victimizers towards your tribe. Thus novel has succeeded
in getting sufferings of your tribe acknowledged by people from larger society. But you know
that this is only the half-truth and it is agonizing you. You will write articles to be published in
different media to present.

1) the position of the victims as sharply distinct from and as opposed to those of their victimizers
using selected authentic documents and gain empathy from society at large with propagation stance.

2) fact that though minority tribe got displaced, all misplaced, majority tribe members were not
perpetrators and both tribes were misguided by their narrow minded leaders by using evidences
of selected documents.

3) fact that victimizers were also victims of daily hardship, tragedy, and hopelessness along with
the loss of rights and respect by using selected documents.

4) the reality by documenting how members of these two tribes are defining themselves in relation
to their respective narratives of victimhood after long period of more than two decades for
avoiding insurgence of hatred.
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Upanishads carry a weighty fable. Virochana, ruler of the Asuras and Indra, Lord of the Suras, both

once went to Brahma and asked him about God. They were told to look in the mirror. Looking at
his reflection Virochana instantly concluded that he is God; Indra while looking at his reflection
and spending longer time in contemplation, realised that God was all. Some persons measure
development by the amount and material things that they can consume; some persons measure
their worth by all that they can uplift and divinise. The difference is nothing less than that between
an egocentric existence, engulfed in its own gains, unhesitant to exploit, and an expansive one
that is creative in the highest sense of the world.

Select the most appropriate option that indicates central idea of the story.

1) If Virochana had thought carefully while looking at the self-image, he would have realized the
truth.

2) To see one’s own reflection is to discover one’s own characteristics.

3) Persons who are egotistical, selfish and involved in exploiting others for that purpose live as
‘Asuras’, while those who deal with all others with open mind using their own creativity and
assist them in their own upliftment and deification live as ‘Suras’.

4) Some people measure their own development by the amount and material facilities that they
consume, while others measure their worth by uplifting others by providing abundant facilities
and divine pleasures.
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Mo, To and Vo who belong to three different communities, participated in a dancing competition
and one of them won the trophy. They belong to communities namely Koki, Poki and Toki. All
members of Koki community always make true statements, all members of Poki community
always make untrue statements and all members of Toki community always make true and untrue
statements alternatively. They made following statements when reporter asked them to comment.
Mo : If Vo had not disturbed me by laughing loudly while dancing I would have won the trophy. Vo
always speaks the truth. Vo is the winner.

Vo : I was not laughing to disturb Mo. To won the trophy.

To : Mo won the trophy. Vo is not the member of Poki community.

Select the option that indicates the person who won the trophy.

1) Mo 2) Vo

3) To 4) To and Mo have jointly won the trophy
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Your colleague who was heading a project is suffering from some ailment and cannot continue

with it at least for next two months. The administrative head of the department requested you to

head this project in addition to your present work. Since you are expected to complete your

assignment and this project within stipulated time, it will demand you to invest more time and

energy. What will be your response to this from the options given below ?

1) Since your present assignment is keeping you completely occupied, it is not possible for you
to accept this additional work.

2) Suggest the name of another colleague stating that she is more competent for this work and
her present workload is not heavy as yours.

3) Accept the additional work without any argument as timely completion of the project is necessary.

4) You will accept the additional responsibility only if some manpower is provided at least for
some routine work.
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As the education officer you are a member of the committee constituted for interviewing teachers
shortlisted for awards from the district. You are analyzing their documents related to teaching
learning processes and its impact on learners’ personal and social development. As you are going
through these documents you are designing probing questions related to their work. You cam
across a heavy file of technology savvy person but you did not find single documentation of
teaching learning process and its impact on the concerned group of learners. For example, this
teacher has written about how he delivered
e-self-learning material for learning poem Daffodils. You will ask him...
1) With what purpose did you design e-self-learning material and how did vou test outcome of
this learning ?
2) You must have learned many poems during your school and college education. What purpose
did this poem learning served in your personal and professional life ?
3) Apart from reading and listening what other activities or experiences did you design to make
learners their learning visible’ ?
4) What activities did you design to examine ‘impact of learning’ this poem on learners ?

TERTY IRTSTURT WaT (1€ §) / (T &) &I URI&T 2023/ Y



)

1)

?)

For Private Circulation Only

(3) Aok 8oy, T, FfduTe-RUT, gie Afediasia 93

TSI eI AT HaTAdiET ST ¢ USTRITRTT U foaii Agas] audastl gl =IRT ST

HHT 3O Segearedn ufcere gHl So ST SraNaSI HRATET Ueh AT HSTRITeh Sae] T JArgtar

IIgR FTdA™ bl

T

a) TRcleT wd T, st St BHArIRIGH GREIHaR TRATRG BIUTR STl TSyl ATHRAT
T argur Srfarf oTR.

b) guHTEel 3ifewaep, Qrcargul HFIF AT PRAT ATl UL TRl QN dosiiedl Hod |d e,
S g HHATIIC! FRIHAUD BRI MRS dval.

¢) Fatd AHFIE! W BoTaUaRATS! ST T TRIR heteil UISTRG, 3TER, {THT 31T gavieft e
I TEEa FRHTde! BICPHRY AT ATUTT.

d) Mg TR IAlel SR AUl Siieeetian JeR Ul e A IRIS! FRHIK
AT UINUT RO IUshH AT 378 AT el 37T

iRt SR :

9) a,b ) b, c 3)c,d $) b,d

A Director of educational institution claims : ‘instead of celebrating one day as Republic Day, we

constantly practice the ideals that made India a sovereign republic by guarantying the pledge of

justice, liberty, equality and fraternity’.

Choose two facts that support the claim.

Facts :

a) Itis compulsory for all students, faculty and staff of the institution to watch televised display
of military might of the country.

b) We conduct regular workshops for all students, faculty and staff with the help of peace experts
to deal with the hatred in a non-violent and peaceful way.

c) We strictly implement the rules of dress, food, language and behavior towards others, which
are formulated by our organization to inculcate spirit of equality among all.

d) We have integrated activities that nurture the value ‘empathy’ into regular learning activities to
enable everyone in the organization to respect the diverse lifestyles of others.

Answer options :

I)ab 2)b,c 3)cd 4)b,d

Sfftrepr=a e heledn FRATHIR SHAAT TR FaReIMr aiey axun=al YR wga

TRU qFel P R IATEI. UehT e, AT Rl 3TgdTdl JaR U1 aRelhs, fafie ehiar o @

SRICIET SR, T SRR TeTdiiel Sriedre IETUITIATS! ST &3 T 31eft et dhefl 31Te. vl

T SIECR 3RATeT 3R IARTE et 38, el Sl Hfg=aia Jre dadl Jufa aime. fieted

TR Relen gt wafaiq et fas o s et ?

q) I Pral AfleTad Jretel g STUAd STIedTIe aRSTedT Ja-dl IEIDR HRuITIchs JHAhS
3= v SRl Y.

R) FOHIAR AR SHHamITe ST aey o grel ol R arearr (R ader a1e
e gTedl febar fofefl ATaYy ehrrer.

3) A pHAITET URRRI AR Jrerel dedt Moowia wrer a1 forell Yieuare famdt e

¥) PR ORI T 9dT Rchicll Plal SIRKAT Bl dle TgvaTd! fa-d) axd I8l
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You are working as a head in the department that allots government quarters to the employees as

per the norms set up by the authorities. A group of persons approaches to your reporting senior

with the request that a particular person should not be allotted quarter in their building, because

the concerned person is from the reserved category. Your senior suggests indirectly to accept

their request but at the same time also warns that you will be solely responsible for the consequence

of the concerned decision. Your promotion is due in next few months. Which one of the following

course of actions is your choice in this situation ?

1) Since your promotion is due in next few months. You are left with no other choice but to
accept suggestion given by your senior officer.

2) Allot the quarter to the concerned employee as per rules and alert the person about the situation
in which you have taken the decision about allotment.

3) Narrate this situation to concerned employee and request her to wait till you get promotion.

4) Not take any action and keep on requesting the person that she has to wait for some more time.

I IRGRAT RIS [THIhgA TR TRl 3RAeied Jral a1 a3 HRudTal SIRETT e

1 RRIM TIHefiel M. IS | HfshaTceHdh STaTRepc ul ot ST 3Taedeh T BIIGUANE

e 3151 qRae] hell 3118, 3151 AT B Higr et dxlal URaTT JA<T gt 3Tlelall g, a7 faciares

TR FUTE BIOR JhH 2 T [A9RTeT WRaMT Sum=iT &hi<dl ARgeIeg HRTUI dhetedT IepHUaT

T 3. BT 9T fHiehrell PHrevarre! feieama! pioar waime gl fHae axiel ?

q) DI DIV Y STERATT T PROTR ATal AL 3T M, T [THRIICA A PIocarar aNs
ST AGBRIT TGP IR SUIRATC! HALRUI I,

R) ARG JaU[es FU[ do6 AT A ETetd] ea’TR I3 HRUGRIS! HFTUT helell e et

3) AT H97 AT 7 SaT ASIuIRIIST A IR dridiell sRieiel iU dTaRTet.

) 312N YPRAT WRAMT SUIRITS ARG el hleds Sidett STl At difecht fHesauararet warer
rfeclt fftrpR PRl duch AT

You are working for setting up a new business venture that requires a license from State government

regulatory department. You have submitted the application for this purpose after fulfilling all the

procedural formalities and the required documents. Months have passed after submitting the

application but you are yet to get license. This delay is causing loss of business opportunity than

the amount demanded by a chain of persons working in the department for granting the license.

Which way would you choose for sorting out this problem from following options ?

1) Patiently try to convince any senior officer in the department for granting the license as early
as possible hoping that he might not expect illegal gratification.

2) For starting the business without wasting the time you will pay the demanded amount as business
investment.

3) Use your contacts with any political worker to get the issue of license settled without paying
bribe.

4) Contact some RTT activist to get information about the time frame in which such license are
required to be issued.
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(8) =T AfhRIT=T, faurear ARl dsdreuil

"'ggr et uRlenm SrRiel Set’’ &1 ey At A SRAURT Qi e ST
T

a) wo faemelf wier il el

b) 9o faemeai=t wiem qui dpefl e Fgo o IHOT a1 ST e AR

¢) 3Tl SAetea femeafd dvear o qut 7 wRUT=IuaT 4 : 9 7 SR 3.

d) Sl siTeiean faemeai=h e orgwiivl faemeatuam ¢ : 9 7 IR 3.

it SR :

9) a,b ?) b,c 3) a,d &) b, d

Identify two facts that prove conclusion : ‘Ten students failed the exam’ to be always true.
Facts :

a) 40 students passed the exam.

b) 10 students did not complete the exam and so neither passed nor failed.

¢) Number of students who failed outnumbered those who did not complete exam by 5: 1.
d) Number of students who passed outnumbered those who failed by 4 : 1.

Answer options :
I)a,b 2) b,c 3)a,d 4) b,d

(4) Ay, Ao

B qefiet U g A 9e UuT 3. C HefieT Bt ged A 72y 3med. D Aefiet s g C 9e 3med
qur D Afiel gl Bich A HEN ATE1. IT ATied AT STUR eiel Ueh! PIvrd fau s1er 31 ?

9) C #efict Prel g B HeI 3Ted.

) B mtfid Uda gedh C Te 3R,

3) AT A gcd B 3rerar C e 3R,

¥) C #efict U b A H& 3.

Every element of B is an element of A. Some elements of C are elements of A.
Every element of D is an element of C but no element of D is an element of A.
Which of the following statements are impossible ?

1) Some element of C is in B

2) Every element of B is in C

3) Every element of A is either in B orin C

4) Every element of Cisin A
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(£) S5b, SHH T HiSUN TGAT, HHIh Tl

qTel! et Afgdiar Prooigde IR &1 g U IR &l

i)A,B,C, D, E, F 3for G Gepr ficiier s9et 312 @ <1 Hafd die geds 3.
ii) C & D =T draples Ioidids IR,

iii) B & 3AIS TIeprel 31 9 aral 9ot E 3TTe.

iv) G @ E 301 F =31 921 3.

v.) D @I SRSl CIpIRIT foRI=IT SR 37Tg.

'G' =T IS DIV et AR ?

gt S :

9) A Q) ¢ 3)d 8) F
Study the following given information carefully and answer the questions that follow.
1) A, B, CD, E, Fand G are sitting on a wall and all of them are facing east
i1) C is the immediate right of D.

ii1) B is at extreme end and E as his neighbour.

1v) Gis between E and F.

v) D is sitting third from the south end.

Who is sitting to the right of ‘G’ ?

Answer options :

DA 2)c 3)d 4)F

TepT 8 JTgdid a, b, ¢, d, e, £ 3707 g & AT FAR 3MMd. 'a' 37for 'f g 'd' 37107 'g' = Sfamiat afmea.
'f' 21 'a' ST YAl MR, 'e' BT, TR Gfafur IHSIIes Sifeiedn 'c! T STRall 3118 ST11OT 'b' <=1 ufeemat
3Te. Weh g 3T 'f' g QF AR ‘¢! BT Yeiell ST

feeiean mifgdiean deuia A Jca 3Nelal faum FasT.

9) “a’3Afor 'f> g HAR ‘e’ FHIITAT Saf0eT 31Ted.

R) ‘e’ TR & ‘a’ AR yfegHe 3.

3) ‘@’ THART & ‘¢’ TR ufeayel TR.

8) 'f” AART IR |aid dell g,

In a housing colony, there are seven towers a, b,c, d,e,f and g. ‘a’ and 'f" are to the south of ‘d’ and
‘g’ and "f’ is to the east of 'a’. Tower ‘e’ is to the north of ‘c’ that is situated near the south end
boundary of the colony and to the west of ‘b’. There are only two towers ‘g’ and {°, to the east of
‘.

Select the statement that is always true with respect to given information.

1) Towers ‘a’ and 'f” are situated to the south of tower ‘e’.

2) Tower ‘e’ must be to the west of tower ‘a’.

3) Tower ‘a’ must be to the west of tower ‘c'.

4) Tower 'f” must be to the far east of the colony.
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StegT 3T, fodT, RIsTHT S1foT ST SHTAR I IWAT 8T <iegT, RISHT Faid S SRIed™ ufgett St
e TR oM fora=am TRrit A, Fonfy SicgT <1 AR SR 18w degl 3T Jaid g SRed ufgatt
Y R1Ed TR AT Hafd AgeT FUF B, T qal AT SIAT S8 TG . [{1el S SrRaomy
fereaTier aam olgr euchl .
9) ST Q) e 3) fomm ®) 3T
When Anna, Bina, Ciona and Diana stand by height in a row, Ciona being the shortest stands first
while Bina comes to the third position. However, when they stand by age, Anna being younger
stands first while Bina occupies extreme rear position. In both rows Diana remains at the second
position.
Select the person who is immediate younger than Bina.
1) Diana 2) Ciona 3) Bina 4) Anna

(9) Tforcitr ek, wef 37gea e

(¢) TR WINT, AR, AT, aiepRur

SR, "UNIDENTIFIED! a1 grecrl |d e auiHieJaR. aiTell 3fciel, @R fohcl areri fRuch
SrRTafcle fget ?
q) b R) TF 3) = 8) IR

If all the letters of the word "UNIDENTIFIED" are arranged " alphabet order, then the position of
how many letters will remain unchanged ?

1) One 2) Two 3) Three 4) Four

UepT Haber T, ‘hope to see you' @ HaT ‘ re so na di’ 3T 378, ‘please come to see the
party’ @7 G ‘fi ge na di ke zo® 37T 37TE, , ‘hope to come’ a7 T ‘di so ge’ 3I¥TT 3778 S “see
you the party’ T T ‘re fi zo na’. 3T 37e.

feaict Faba Fuet! SIIRGT ‘please see you'. IS RAT GG ST T 199ST.

9) ke te gm ?) ba od ke

3)te ba ke §)su te ba

In a certain code language, ‘hope to see you’is coded as ‘ re so na di’, ‘please come to see the
party’ is coded as ‘fi ge na di ke zo’, ‘hope to come’ is coded as ‘di so ge’ and ‘see you the
party’is coded as ‘re fi zo na’.

Study the coding system used and select the appropriate code for ‘please see you'.

1) ke te gm 2) ba od ke
3) te ba ke 4) su te ba
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() == 3Mfor guiHTfere

lelle] JTehI—FeR Hfefdhilel Uefrg (?) o drfdhepaean guf eRUTRITC! iU JFER—HGIT FoRTR dqeie ?
TG61, QJ56, NM52, KP49 ?

9) IR 8w ?) HS 4R 3) IRYR 8)HS go

Which Letter-number cluster will replace the questions mark (?) in the following alpha-number

series to make it logically complete ?
TG61, QJ56, NM52, KP49 ?

1) IR47 2) HS52 3)IR52 4) HS47

SR8, Y, ¢, 93, 9%, 99, R, s, &l HfeTent 31efia G Sdell TR Wiellelueh! DIurdT AvedT &t Hiferehe!
RIEUIR T8 ?

1) 39 ?) 3R 3) 33 ) 34

If the series 4, 5, 8, 13, 14, 17, 22,..., is continued in same pattern, which of the following is not
a term of this series ?

1) 31 2) 32 3) 33 4) 35
feeiear 2iidiel gebia ug ene.

94, 9, 33, 30, 3R, 3%, 49

) 30 Q) R 3) W ) 3

Find out the wrong term in the given series.
15, 21, 24, 30, 32, 39, 51
1) 30 2) 39 3)24 4) 32

24 29 26

27 22 31

30 28

) 39 ) R 3) R 8) 33
Select the logical number for empty box in the following arrangement.

24 29 26

27 22 31

30 28

1) 31 2) 39 3) 29 4) 33

TERTY SRTSUTAT WaT (7€ ) / (7T &) =T T84T 2033/ 39



)

1)

For Private Circulation Only

(90) THAT T TATIRIA UL, I MGl
Tl IR 3MHeduh! i IR JeR ARET Mlgd MU U e a7r. fowe e,

SR BD 7

A

g SR :

9) A )B 3)C 8) D

Three of the following four figures are alike in a certain way and one is different. Select the odd
one.

&2 D7

Answer options :
DA 2)B 3)C 4)D

Q) Wrefld IR SMMGHTDh! T fafE U TehaReedT 3Ted 31T U e armg. fawe fae.

2)

roee

g IR :

9) D Q) C 3)B 8) A

Three of the following four figures are Alike in a certain way and one is different.elect the odd
one.

troee

Answer options :
D 2)C 3)B 4)A
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Teft I gt 3T o ereca Tt feelel 3R, divrT uafa o amgt qeffdar 2

g SR :
q) 3fcrERT, e, AFReeTE R) HIRd, 3R, R
3) B3, Jaie, diaxT ¥) &Y, goft TaT

Below Venn-diagram and three words are given in options. Which option represents the Venn-
diagram correctly ?

Answer options :
1) History, Geography, Civies 2) India, Asia, Europe
3) Flowers, Fragrant, White 40 Cup, Saucer, Tea

feelear HedeuTder yea femgrean Saret Sfd wfomr T,

@O
T I :

/) |1 SN | (] 3)

Select the appropriate image for replacing the question mark in given relationship.

@O @

Answer options :

n| (& 2) 3)
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'3’ g URGEID Jepsl NI AT feeiean yafaiqy @l gel Fas.

=

g SR :

Study transparent sheet ‘A’ and select its fold from given options.

>

3

Answer options :

TferT X =1 ST ddh SN ST fSURiRgg dig dh aiuRu) 9/ el 9I fdel.

—

g IR :

|

o]
~—

O IO C
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Study the logic used for constructing image X. Identify option which cannot be constructed along
with dots using similar logic.

—

3 D C

GTefiel Bt HTE IR, AT IIoad gl gl d <1 Siigd A BhR & 378, IS AT
Breproft el 9% fGRUIRT 593 feet ammea. auifer B, G, R @ Y 3gehH e, fear, et amfor fieest 3
gfoefid aRard. feeiean waiaiqy a1 el aqrt o o /3 ki g9/ 93 e

/N
AV
VAV VNV N

9) %eh a ) ThaR b fdhar ¢ 3) ThaR d fdhar e ¥) eh e

Study the below triangular card. It is folded along lines and joined to make a pyramid. Given
below are top views of this pyramid. Alphabets B, G, R and Y represent colours blue, green, red
and yellow respectively. Select the odd top view/s of this pyramid from given options.

/N
AV
VAV VAV N

1) only a 2) Eitherborc 3) Eitherd or e 4) only e

000
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SR : AERTE SRSURA a1 J& URIe (7€ 9) / (1€ &) 2033

YR sh¥ih — 2 : WHT-T &9 Il

(R) M YfGHTI g 3ATeher

(9) faum anfor Jfhare, Tfedd, s

- R-R 3-% 8-3 4-3 &3 V- ¢-R R-¥

() TReSEia Fed, TR -SRI, R -gwiar

9-3 -3 3-3 8-

(3) fAof B, TR, TfAUTeH- BRI, i Afadianicl 92

-9 R-R 3-%

(8) ScT GfthRe=d, fRamr=ar Aokl usdrsoit
9-3
(4) A, fAgemur
(&) 3556, TH1 T HiSUN TGRAT, HHIh Tl

-8 -3 33
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(19) Tforf &<, AefiF Sgea o

(¢) WAhfieh UTST, AT, AT, THIHROT

() == 3Mfor guiHTfere

9-9% R-3 3-9 ¥—%

(90) SNTFHAT T TATRIS UL, I AT

9-% -3 3-3 8-% 4-3 &3 -3
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